Semrunent® urgs Csiey - 2019
LIGU.TSUﬂQUm:rL'"m QJ@L'IL‘ uBley erent:
Cr15: 3.00 wenfl & ovef1 5 1D oAl Gsiast: S
Sifleyeny : 1) sioess amsaesd siluns udarndl eseongr aaugemen efunigg
: . Qanstenayb. gFst uHalled GopuUlmuller smps semiaraiuureTi
o Lenqunsg Qsflalésaib.
2) doos vz soUy evuleme WIEGL a@HUSDG!
238CanyPagn@y LLSTUDSS CaumiBu. UL mEsT TS
Quefled LwaTUBSSQYLD.
el - | L g e e R
Goluy : i) Smess eflamisens@w eflmLwelssan. S 20x1=2
i) Qar@ssuulL preiE wipn ool sailed Blaaw sflurer e ew;
Csi0s®ss GO @&t el ulmeanyw Ceissl TpBRYLD.

1. A stetrugy LESwwLHDS Caneneu e LHmb A” =[ ; ] eriiled ( T)_1 -
—2 -1 A

-5 3 5 3 -1 -3 5 -2
o7 w22 W[FF] el

. 2 3 ) 1 -
2. _adJA=[4 _J-Lo,rf)gub adJB=[_3 1Jmﬂs\aadj (AB) sy
-7 -1 _6 5 7 77 _6 -2
a7 _g b) |_2 _10| - 9 [-1 -9 d1s5 _10
3. |z-2 +i| < 2 e1sfied |2| &t BLIGLEH Ly :
a) 43-2 b) V3+2 c)J5-2 d V5+2
14x+i |
4. x2+y?=1 stafled 1::2: Besr i
a) x—iy b) 2x c) =2y d) x+iy
5. (cos-g + isin%)%1 657 676060 HTEI(S) &Iy seiesr ng&@g’;ﬂgnm
a) -2 b) —1 c) 1 | d) 2

6. X3+ 2x + 3 ey LedPIMILILS Caneneus

a) em & wpnith B seolIclLew LFRwnnsdsst @maeEn

b) g Bews wHmb S seo16lLIeTT wERwnsSsT FmsELh

c) epesmy GlouwlClwewdr wrblunsdss @meed  d) uESlwwnsser Fedenso
7. sin~'(cos x), 0 < X < 7 e Y

b) X-% c) M—X d) x-n

a) n—X _
8. Mot L L gdlet ienrs@Hmés OB, F uppud F' @elunsst wpoid FBF &G QemCanew

16860 Db BeteuL LSt LWECISTDEVS S56 STETIS. ‘

a) /Jg b)Y ) Y d) XE

9. x2=8y— 1 et ureusneTLSHETT (6T

a) (-%.0) b) (%.0) o 0 %) d) 0. -%)



10, [+ ] 4K K + 1] @eirogic
a0 b) 1 92 d) 4
x-2 _ Y+ __, | : . :
M 75 =27 2= 2oppn 1= 253 245 ausinp Gon@oené@ Bevi—ii Canamis
2 % b) o % Q) %
< ?E’ g’g‘:"iﬂ%% QG@@Q)@M ngd)(ﬂg,n.e'f,&l a;ﬂmﬂu@eﬂmg}:t Gfﬂ'smmq. (Bg,rrg;@s\) I8! élml_—,riag) 2 Wi
a) 2 - 560 9iflaLl & 2 wrgens t el CrTSHe0 SiemLhFMe0, t LTSI =
b) 2.5 c) 3 d) 3.5
Lim LA TS A
13. .30 (cotx —%) it Ly
a). 0 b) 1 ‘ c) 2 ©od)
' 2
14. f(X,y) = e grefled .gxaf pes lDé]L'lq |
a) xy e b) (1+xy)ev c) (1+y)ev d) (1 +x) evs
7 ' :
J‘ [2x7—3x5+7x3—x+1) X 7
15. _y cos? x Qe gl
4
a) 4 b) 3 c) 2 d) 0
n ,
° 3
16. I,cos 3x dX ey iy
0
a) % b) % 0 % . d) Y%
f d
g .
17. E[,H_scosx GdTLDQL'ILI'
a) % b) 0) 3% d) 2n
—d—y- + 1 — 0 N N o . 5 o
18, dx 12 STEILD 6UEN S &) B(LPEF FLOEITINL g 681 Hitey
a) y+sin'x=c b) x#siny=0 ) y*+2sin'x=c  .d) x?+2sinly=0
19. % +Py =Q ergmuid Crwed cuena&0lspé suamniyer Qgransul’ Bié srres sin X esfied
P eistiugy '
a) log sinx b) cosx c)tanx d) cotx
20. [x + Y= ()2 + 3X sreniib euenasQap swuaiun iy el auflens whmid Lig. (peonGuw
a) 1,2 b) 1,1 c) 2,1 od) 22
ugd - Il
aenauCueb 7 elemasenée elenLwel: (kv et 30 st ) 7x2-14
59 | 1 |
21, smé@s: - TBg



22.

23.
24.

25.

26.

27,

28.

29.

30.

semeuCugyd 7 eflenméaené@ efleoLwefl: (alkom s 40 &L mu eSleorr)

31.

32.

33.

34.
- 35.

36.

37.

38.

39.

3) ;
8 v . . Xl sesfigin
?x + 3x. +4 =0, @b (Ui e g6 ppevmiseT t, B omhHpin y erefed 20, 23 21';{3&
@Nmimm& Olaneuin_. (PUILIG FLOGHILIN_ENL4 SHI6UTTE. |
cosec™(=1) exr (aerenio AL snewrs.

ﬁ:;: (=1,-2) QeciicuagBan Somb 4 wppid Clobrypid Hpiemw UreuensmLIgd, o5 mingsiLin(D)

2i - j+3k, 3i + 2] +k, i +m] + 4k ereim QeusLhse G Bon Qeuds e 6fled, .o S
SEVYTS;. ) -

r= (2i +6j+ 3k)+ t(2?+3j +4R). F= (2]—3R)+s(f+ 2]+3ﬁ) aeip 906 Gxm
CriaCanbast Qensworé: Can(Disenm@Lon 616us &Mevwts.

Crredssr Geppsenst uwau®SH Y = X2 + 1, =2 < X < 2 aaip eusmneneusnrulled X-i5&6@
Bememnwuine Pms@d CsTHCHT 16 Qg Yeeflenws srewis. . BRSEE

_9v)3 _
y = &2 aaip ariipe dy ancwi,
%
mgulﬁ(ag,: Ixcosx dx

7

e er6i1p &L E Clseonyefien elifleneus snewe.

ugS - I ;
7x3-21

cosa 0 sina

Flo)=| O 1 2 steflew [F(0)]! = F(—at) s16m18 &m(h\o:.
—-sina 0 cosa |

(3-i)x—(2~i)y +2i+5 wpgud 2X + (=1 + 2i)y + 3 + 2i gl seoliCluewTsST SO sTerleD X

OO Y 8T oL HT6wIs. . :

2i + 3 g0 ppsuLons:s QlETERIL GODBE

Ce1en6UE FLOGIILITL DS STETIS.

A %-1 -1

Sirge . tan 1(;(’5:%)+ tan (ﬁ%): %‘

g Clgm_it symeaumidlder Godub Sigei peendlelGbs 2 1

) LpeuemeTwg QFmem - - psment
FTEHe0 L_6TeTS). (peremuiledmhg! 3 8 grrEHled SiemeveunmISUTeN S{&E60LD STENIS.

[6B,5x5,58)=[8 B, &] omBposs.

L LigaL_6¥r m‘kﬂg@@ QapEHEmeLL S LICOIDILILE

— — o—

. (1 1 )
wHOIBS | or(x  eX

1
oA : I log (%I%)dx
1

Y =e*(Ccos2x+D sin 2x) .
@aiene nflsdeer erafied aumasbla(pé soeUn

st sweun @ {C, D} Bm wrpSHEss wrfedlaen 60608

L EDL. D{EODES.



(4). Xl serfigin

40. z,,Z, e1681p @ Be0LIOUeTIG 66t sn L6061 iq.6u seile o (HEaIELOLImL euenTHE), aflenLenw

ghuniés.

ugh - IV

Sieneichgl allendsenagw allanwef): 7x5=135

Y
Y

42,

43.

45,

46.

47

a) 3x+3y-2z=11,2x-y+2z=09, 4x + 3y + 2z = 25 aeip CrAWE sweTLIR e
Qzn@ienu Eymofe effoiig S, (yovsvgy)

) 2x =y +2Z=2 6x—3y+3z=6, 4x — 2y + 2z = 4 aap IO G Clgneuy
POHESENIOE DLW SIGTLIENS, SIS, RHESMEY 2_ LGN Siuheons Side.

a) z=Xx+iy wpmib arg(i—;}) =§_ atediley, X° + y? = 1 eremsan Do, 7.‘(&{6?6;051)..-; —

b) sin x et eusmrLLSems [——g—, %] steim BewL_Gleusiluflaid Sin~'X e euenruLGeng [—1,1]
stesT Ren_Cleusfulepiib snewrs.

a) ewws QsrmessHey % ; @.siﬁluJ ris6fed eitm) (2,3) wHmith e BwéGeusnr X =7 2 eniuw
Beieu_L_gdletr gerun(® anesis. Gogib @ BLL_&&, GDDES: Lemisanens s1emwis.  (yes)

- b) emafE srenevsanes weney suflGw ClFedeId FmIaL Ltengulle (WaLiy  Beieul L

Sulpeulons 2 emeng). CBHEhETewevUTen Qlonss Sseb ((WaLiL) 2ie960) 16 5. srenevullss
alleNdNed srmisL) unengullest e wird, 4 8 o wirpsien E75@ eunsenld GlFedeusnEs
Comeuwnen gsmeflh @b (palife siflsuL s o wib 5 Sp5a|b @mss CouemtHGafed
sTmsULITenguIles SpLiei iseolb sretteneuns @mée CeouswiEln?

. &) sin(a+P) = sino cosP + cosa, SinP stewr QeusLit eopulled Bmieys.  (yeveug)

b) x£2 = y-:;z =£ 1 etainp Ganieoi. 2 siram_sdlug x;-1 = y; Ly 2;1 sy Canliyhe
Revermunengyone gengSHen Qleusii wipitb sine Kwist EOTLT(DHENETS HIEHS.

) SMEBLNS eEUSHILL L Q1 CrHituL L salbifes suiq660 2616 g(rp BinHlenevs Qi iq ulest
Sppth 12 1811 ipmib Guospienen eul L slsit snmb 5 SLLir stedts. Bl_g8iv& 10 sew SL it
Ceuagdled Hir umigsLILGENg) erafled, 8 BL L it sy1p88led B @mé@b Cung; SRs gy ipid
Siflafs& @b Cousld etsiten? (Hy0s)

b) Qer@ssiL Ly w Qssisusrisesst sgmb vl GG GMDES sHDenes Qarewi(h
Bes@wb aan Bnieys.

2.2
a) Ulxy)= ’:/% s16led x% + Y%yu' . %U eTsuT Himieys. (oVevg)
b) Sieanenis : o = 2ycotx = 3x2 cosec?x

o d
N

. @) @ BETSHN 2_sien wassT Ognensule cuetied of &b JECHTSH60 o_6iten a6 Qg nenad g

ellflgione siemwngisieng). 1960 gytb syeamiged wése Qgrens 1,30,000 stemay, 1990
B> wéast Qgrens 1,60,000 gysaud @uuiler 2050 sub eyemiged wassr Qsnens
steeusTieuns @mé@Ld. (Cammuwns gyuilprissisy)

(19 <186 (o)

b) y = cos x Lng)‘r:r‘)jlf)y = sin X s16Tm euemeTEUEnTEHST X :% bHOID X = 5Tft st Con@es
c%é]u.lmfggjés@@mt_'@m 2_6eT STEISSERT LITLIenUIé Snewis. Ak

* kkdekkdok



